1.

Gl

bk

ORUNG)

® 0,6,
® ©,©E,0

ORON®

® 9,3, 0



o 1A ol E//% QA& _-10cm-~
ABCD o4 % tzbde] @Al M o] i, D
AD = 10cm , BC = 14cm ©|th. AADM =

20cm? ¢ ], ABCM 9] §o]& F5}oizt, M

Q

T ~4em--7

Qe e



&9l ARz
C _-10cm-~~ _ F
/
/
D/%
B E
® 3cm 3 4cm

D 2cm

.- 6cm-~
7/ |\
_____D/\> 3cm
B E
@® 5cm 3B 6cm



4. g I e A7zt ABC oA
2 +y? 9| gre Fatolat,

@® 200 @ 300 ® 400

@ 500 3 600



5. =& 194 BC//DE € W, th5 & &2 A& BF A=H?

(1]
7
DF BG o
®ﬁ_§ ©DF.B(1_AEA.EC
o FE F D
AE:EC=AD:DB —_— = = —
©A i @GC AG AB
F D
© 3 "m0
® 09,0 ® 9,0, ® ©,6.0

@ 0.6.6 ® O.0.0



th2- A AD = /A 9] o] 5EAo|tt AABC 9] Yo]7} 48cm?
o w, AABD 9] Ho]:9

@ 9cm? @ 18cm? ® 27cm?

@ 32cm? 3 36cm?



J
-
fife)
AL
0
=
ny
—_
N
NF
T
oF
N o
vy JWL
)
w ™
mn_h o
ERS
X Ot
X B
T Bl
TR H
1 O#
op
TN

T
70
== —I/H =5
20
m x ]
N e}
T
70
o
<
Kl
d

at

iy
Ny
~ o
N N
m <k
or Y
X
Hf- ﬂ
T
I e
=
i
T

@ (7h °l%

Wzke] 2717} 90° o],

s

7

(

b % g7t 4do] Az Szt
(L}) o981 = 719] 1717} 2t

®



L
mlo
_\-1L_ll
m\l

=
3
s
% &
fr
il

m\]
(e}

Stofzt,

4

B
g
ENpS:

STeme

T~~14em--7



o2 183 22 AABC 1A A G 7 FAFA 011 FE//BC,
AABC = 48cm? ¢ ™, AGEF 9] Y o]& Fstoizh

A

@ 2cm? @ 2.5cm? ® 3cm?

@ 3.5cm? ® 4ecm?



10.

gl

/>3 cm



I A 20cm Bol7 F Z-S A4 60km =

o <z
200000

2ot A= Al2?

® 408 @ 50 & @ 1A7t10E
= ® 1A7F40 &



;ABCD o A
_ 6 O] [q1

® 12




13. o+ 444249 ABCDolA BDLFEY u, 4718 FBED o] 59 9]
Zolg Fatoiet.

FI—BCm‘\\

D 18cm @ 20ecm ® 22cm @ 24em B 26cem



14. o2 24 oABCD = A Eol1L, /PAQ = 45°, ZAPQ =60°
oA of, LAQD 2] 27]=?

A D
45°
Q
60°
B P C

@D 45° ® 55° B 65° @ 75° 5B 85°



15. th& 134 AD: DB =BE: EC = CF : FA = 3: 1°]t}. AABC
9] Yol7t 160 W, ADEF o] Wol& Fs}olzl.

A

Q




